THeEEEREEAKREIR (EEDREXMEZSEIE) FTE(H)

% A (B FH)
&= = AEEFHAMEEPHESE H R B BH
1 ZRIRA 69,347 73,024 A 3677
@E@%@fﬁ&m I A 7,201 7441 A 240
#HeRE
2R EREM URA ’ ’ ’
%o)%%#&wu 24 241 0
—HEHEEFINA 7,201 7561 A 360
FrEEEREM U A 25 25 0
Z DB EIRA 5,347 4,715 632
2 FERAMRUFHH 275 287 A2
3 BA® 7,760 7,706 54
4 BREE 30 30 0
5 FEIRA 75 75 0
HERF 1 1 0
A 74 74 0
mA A E 77,487 81,122| A 3635




% (B FH)
7l =] AEEFELRENFEETELR| H & B A
1 B%E 47,733 50,102 A 2,369
BEAGE 37,916
—EIRE 47,661 50,030| A 2,369|—fgSEE 9,745
EESEEE 72 72 0
2 BxE 29,594 30,860 A 1,266
E&E A
ﬁ#&%ﬁﬂ 2,068 2,068 0
E&E A
MM 8 8 0
EER
Py 26,400 27.600[ A 1,200
EXEE 1,042 1,108 A 66
3 NMEE 60 60 0
4 FiEE 100 100 0
m A 77,487 81,122 A 3635
ot S A B | = 5 "=
CEEBEEZERSEETFE 77287 77.487 5




